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	Module 6: Lesson 1 ASSIGNMENT

This Module 6: Lesson 1 Assignment is worth 25 marks. The value of each assignment and each question is stated in the left margin.


	
	Lesson 1 Assignment: Blackbody Radiation and the Quantum


	(3 marks)
	A 1.
	Why couldn’t classical physics explain blackbody radiation curves?



Answer:

	


	(3 marks)
	A 2.
	What is the frequency of a 13.0-eV photon?



Answer:

	


	(3 marks)
	A 3.
	What is the wavelength of a 4.30 × 10–19-J photon?



Answer:

	


	(3 marks)
	A 4.
	How many photons with a wavelength of 532 nm are released each second by a 
5.0-mW laser?



Answer:

	


	(3 marks)
	A 5.
	As a safety precaution when working with lasers, scientists wear red-coloured glasses that will block all colours but red. Why is red light safer than blue light?  Why is a red laser safer than a blue laser?



Answer:

	


	(3 marks)
	A 6.
	A person lives near a 50-kW radio tower. Why is it safe to live near the high-power radio tower but dangerous to be exposed to an X-ray machine that uses 7.5 kW?



Answer:

	


	(3 marks)
	A 7.
	Why did the introduction of the photon effectively end classical physics? What does this mean for the Christiaan Huygens theory that light is a series of waves and Thomas Young’s double-slit experiment?



Answer:

	


	
	Discussion


	(4 marks)
	D 3.
	Read the answers from two other students for D 2 and improve your own answer. Copy your answer into the space below. Explain what you learned from reading the other students' answers and if or how you changed your own solution.



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.




